LIDQGI) ugas Ggita ~ 2022

9 - SpiD UGS &aTHID &meolb : 1.30 wemfl

LorIeIeTOTEET : 50

©

2.

STy ATTESEHEEGD el walssalib.  « BX1=8
meoonb P = {X /X e Z, "1 <K X< 1} &eiUdl...cccrvrrrerurnne ‘v,
) QIS 600D S) SIBBGS HEUUTLD &) SleuIYGBEs . 1) 2L HEBOILD

sewrb A = {X, Y, 2} aefied A - &1 QeuDMISSETULIEDDNS ©_L-&eToTmisaMeoT

S)) 8 &5 &6 w7

A= {¢} wppibB = P(A) seiéd A ~B Syeg L

a1 {3} {4} = W{Q & ¢ {0}
“.t;- - 0142857 erevfied Pl | T -

ﬂ)oﬁﬁ &) 0714285 & 0571438 i) 0.714285
LVEID NS L P —, : :
&) 610 ) 821 &) 8,10 ) 621
W &GsnesusBeT S\euaisBaTenornD sr,[bg, 8 CaneorriseTien sn(5He)5@ FLoLD?

&) QsuerlisGaneuuTESeT &) Lsnee!rﬁn&@ﬁnm

8) eetrm) 61l L BHevOTRIGET - Fr) 2_eGHNeUoIRISE

gCsEId a1 ANESEHES eflepL Wielssa)LD. |
(efieorr reBn, 17 6@ SLLNLILDNS slleoLwafiésad.) 8X2=16
ASSESSMENT ereimp eemedebled £_eiten eripsgisseisar SETUTHEDSLI LIL 191 160 @enmlﬂa)
DB .
A = {3, b} et SIBEGsEaTHMSS BEUE, - :
A={6,7 8,9} wppub B = {8, 10, 12} aiefis> A A B snevors.

= {m, n} wppp Q = {m, i, j} erened P whnid Q eredrp sewmmIGeDeT
Sl6uctoTLL 5860 GrlGE igedr epeold P Q sevors.
N(A) = 36, n(B) = 10, (AU B) = 40 arsted (A B)anairs.

7 2 o
=77 D 1] 70D eTevtTa eI BemL B STemauGILIgLD @Ersum@ a5l srmma
E6T B, ’

Q _ . ﬂ.dl.'n' ﬂﬂﬂ‘“ 1‘-&.:',*-2:- P |




16.

17

1.

20.

21

22.

23.

24.

: o : g
2.176 eT6bTD HILD 6T600TEm 600! g TSI LomDE.

32& 2" ereb1 QuigeuBed 6TLHHIE.

% &1 ugFsow NBHILGHHIS.

6.34 X 10 m pew augeled sTLpsis.

Y7 > 5 eetruems QoL SS.

gEHEILD FenG elamisersd el walsaa)b. 4X5=20
(@fen e 23-6@ SLLMULIG elepLLalEaa)D.)

QEUETOTLIL FIS6meTL LILeTLGSS A A (BuC) = (f\.r-, B) u (AnC) ectruemss
s, |

S sedeylufed 2_dran LDTEoOTEUITE6MEd, 240 LomeuoTeUiT &6 WL DL ULBSID, 180
LOMETTEUITESST SMEDLBEILD, 164 LomeooTauITe6T suemenBaed LBEILD, 42 Guit Lol enLLiLbE)
LPOID SNEOUHFILD, 38 GuiT SNEOUBEH LODPILD euaneTGamed u;'muia. 16 GurT eLpedr)
elflememum. B &emLb ailanmm@&,ﬂ:ﬁr‘msir. @m’:amﬁ@ LDIT 6037 6)(HLD ig,mm_gy 45
eflenemLIM_igeoneug LUriGsDEDNT areufied, :

i) medgmlutied 2_eien 610G onerauTsafst caTemiSens

i) @8y @ eflevsmun (G WLEWL eflenemMuNGLD LDNeRTeTSafcr 676001600 & 6D &
SLBWRNDEDD STETONE.

A=4{-2,0,1,3,5},B={-1,0, 2, 5, 6} wpme C = {-1, 2, 5, 6, 7}
aefied A - (BUC) = (A-B)n (A - C) ererss G,

4.863 & ereutTGHNLIREd GIilHEeyLD,

e YEGanausSe WeGanaurisafe elSsb 1: 2 : 3 eefe wpaGanssrgds
@eueleun s Gamenor SleTemaulLLD Snetors, | |

17 -2

Fog "8 J7 + b arenfieb & Wppid b Seir oBliysenend snevors.

sEp@ib QETpIGG SheLuatEsayD, 1X8=8
Y = 3X - 1 &1 auempuLLD suemps, [,

+ 3X + 2y = 14 én eusnpULLD 6uemys;,



